2023

23

63

7,644

ki

23

ki

14,864

2019 2020 2021

2022

2023

14,827.00]  13,620.00

14,520.00

14,860.00

14,864.00

237,878.47| 236,438.23

235,057.44

238,935.36

240,852.26

62.33014 57.60489

61.77213

62.19255

61.71418

kg-CO,/

-0.06

%

0.24

%

14

22.22

%




%

%

%

13 1

17 19
24
30

25

29

20

A101 A104

A102

A103




1 0/ 2 0 0/ 0 0 1
113 2 0/ 0 2 1
1-4-1
17,429.00 | m? m 1 o1
- O |
n O O
n O O
O O O
98 2 1 | O ]
O O O
2023
= x 0.0258 467 |kl
B 907 |t
i 15 |t
= 922 |t
2
= 1000/ 52.0 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 87,008.6 | 45.00 3,915.4 | 0.0136 195.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|1,457,145.0 ( 9.76 | 14,221.7 | 0.4890 712.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
18,137.1 907.8
] m® | 23,765.0 0.2660 6.3
O m® | 23,765.0 0.4000 9.5
15.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202

A203

A204

B101 B103

B102 B104

B105 B106

C101 C102

C106 C103

C109 C104

Cl14 C105

C501 C133

C506 C108

C508 C110

Cil11
C112

D101 D102

D103 D108

D104
|

CO, %
Co, kg-CO,/m?[CO, t
B107. B108.
C113. C123. C115.
C116. C126
C117. C120




Al 0 2|0 0/ 0 0 2
113 2 0/ 0 2 1
1-10-5
1,711.35 |m? m 1 o1
. 0 |
| | O O
| | O O
O O O
98 2 1 | O ]
O O O
2023
= x 0.0258 42 ki
= 82 It
i 1]t
= + 83 t
2
s 10007 47.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
g | Nm 274.5 145.00 12.4 | 0.0136 0.6
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|167,297.0 | 9.76 1,632.8 | 0.4890 81.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,645.2 82.4
] m® 1,808.0 0.2660 0.5
O m® 1,808.0 0.4000 0.7
1.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C117
C127
C513
C517
C524
D101 D108
D104
O
CO, %
CO, kg-CO,/m?|CO, t

B107_




Al 0 2|0 0 0 0 4
113 3 0/ 0 5 2
1-7-7
1,446.00 | m? m 1 o1
- O |
= O O
= O O
O O O
88 1 7 | O ]
O O O
2023
= x 0.0258 54 (kI
= 105 |t
= + 112 t
2
1000/ 72.6 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 18,854.6 | 45.00 848.5 | 0.0136 42.3
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|130,129.0 | 9.76 1,270.1 | 0.4890 63.6
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,118.5 105.9
] m® | 11,746.0 0.2660 3.1
O m® | 11,746.0 0.4000 4.7
7.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B104
B102 B106
B105 B107
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C107
C504 C108
C506 C110
C508 Cl11
C113
| D101 D108
D104
D106
O
o] =]
CO, %
CO, kg-CO,/m?|CO, t
B108. C123.
C125 C131 C132.
C115. C116.
C126 C117. c118.
C119. C120

C129.




1 0/ 2 0 0 0 05
113 4 0/ 0 8 6
4-1-2
2,743.00 | m? m 1 o1
- O |
n O O
n O O
O O O
88 1 7 | O ]
O O O
2023
= x 0.0258 92 [k
= 179 |t
i 9|t
2
1000/ 65.2 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 41,212.4 | 45.00 1,854.6 | 0.0136 92.5
O L 400.0 | 36.70 14.7 | 0.0185 1.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|176,239.0 | 9.76 1,720.1 | 0.4890 86.2
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
3,589.3 179.7
] m® | 14,765.0 0.2660 3.9
O m® | 14,765.0 0.4000 5.9
9.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B104
B102 B106
B105 B107
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C108
C506 C110
C508 Cl11
C113
| D101 D102
D103 D108
D104
D106
O
o] =]
CO, %
CO, kg-CO,/m?|CO, t
B108. C123.
C125 C132. C115
C116. C126.
C117. c118. C119.
C120. C128

C129_




Al 0 2|0 0/ 0 O 6
113 4 0/ 0 8 6
6-2-2
5,502.00 [ m? m 1 o1
. 0 |
| | O O
O O
O O | |
75 11 | O ]
| | O O
2023
= x 0.0258 387 ki
= 750 |t
i 11|t
= + 761 t
2
s 10007 136.3 Jkg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®|146,467.5 | 45.00 6,591.0 | 0.0136 328.7
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|863,027.0 | 9.76 8,423.1 | 0.4890 422.0
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
15,014.2 750.7
] m® | 16,963.0 0.2660 4.5
O m® | 16,963.0 0.4000 6.8
11.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C105
C402 C133
C404 C107
C409 C108
C413 C110
Cil11
| D101 D102
D103 D105
D104 D107
D106 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C123. C124 C125.
C132. C115.
C126 C117. c118.
C119. C120.
C127. c121 C128.
C129. C130.




Al 0 2|0 0/ 0 0 7
113 2 0/ 0 2 1
4-14-1
16,495.77 |m? m 1 o1
- O |
n O O
O O
O O =
9/ 5 1 1 | O ]
O O O
2023
= x 0.0258 667 kI
= 1,295 |t
_ 51t
. 1,300 |t
2
= 1000/ 78.5 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®|124,354.3 | 45.00 5,595.9 | 0.0136 279.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|2,078,014.0 9.76 | 20,281.4 | 0.4890 1,016.1
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
25,877.4 1,295.2
] m® 8,182.0 0.2660 2.2
O m® 8,182.0 0.4000 3.3
5.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B105 B104
B106
C101 C102
C109 C104
Cl14 C108
C501 C1l12
C504 C113
C508 C122
C123
Cl24
C125
| D101 D102
D103 D105
D104 D107
D106 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C115. C116.
C126 C117. C120
c127. c121

C128_ C129_




Al 0 2|0 0/ 0 O 8
113 2 0/ 0 3 1
1-38-1
9,318.65 | m? m 1 o1
. 0 |
| | O O
O O
O O | |
9/ 5 1 1 | O ]
O O O
2023
= x 0.0258 283 ki
= 549 |t
i 6 |t
= + 555 t
2
s 10007 58.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 52,821.9 | 45.00 2,377.0 | 0.0136 118.5
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|881,534.0 | 9.76 8,603.8 | 0.4890 431.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
10,980.8 549.6
] m® 9,911.0 0.2660 2.6
O m® 9,911.0 0.4000 4.0
6.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C104
C109 C133
Cl14 C107
C501 C108
C504 C110
C506 Cil11
C508 C1l12
C113
| D101 D102
D103 D105
D104 D108
D106
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C122. C123. C124.
C115. C116.
C126. C117. C120.
C127. c128.
C129. C130.




Al 0 2|0 0/ 0 0 9
113 3 0/ 0 6 1
7-20-19
2,757.42 |m? 1 o1
. 0 |
O O | |
O O
O O | |
82 1 2 | O ]
O O O
2023
= x 0.0258 75 |kl
= 146 |t
i 1]t
-, 147 |t
2
s 10007 52.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
g | Nm 0.0 [ 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|298,592.9 | 9.76 2,914.3 | 0.4890 146.0
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,914.3 146.0
] m® 2,984.0 0.2660 0.8
O m® 2,984.0 0.4000 1.2
2.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C133
C501 C107
C504 C108
C506 C110
C508 Cl11
C1l12
| D101 D105
D104 D108
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C113. c122. c123]
C124. C125
C131 C132. C115
C116. C126.
C117.




Al 0 2|0 0/ 0 8 1
113 3 0/ 0 6 1
3-12-10
1,546.00 | m? 1 o1
- O |
= O O
O O
O O =
82 1 2 | ]
= O
2023
= x 0.0258 30 |k
= 59 |t
i o]t
= + 59 t
2
1000/ 38.1 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 47.4 | 45.00 2.11 0.0136 0.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|121,671.0 | 9.76 1,187.5 | 0.4890 59.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,189.6 59.6
] m® 1,034.0 0.2660 0.3
O m® 1,034.0 0.4000 0.4
0.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C108
C504 C110
C506 Cil11
C508 C1l12
C113
| D101 D102
D103 D108
D104
D106
O
CO, %
CO, kg-CO,/m?|CO, t
c122. C123.
C125 C132 C115
C116. C126.
C117. C120 c127.
C128. C129.
C130.




Al1/0 2 0 0,0 1 0
1 3 3 0 0 5 1
2-14-17
2,231.00 | m? 1 o1
. O |
| | O O
O O
O O | |
8 5 3 9 O | n
O O
2023
= x 0.0258 40 ki
= 79 |t
: 11t
= + 80 t
2
X 1000/ 35.4 |kg-CO,/m
GJ
t
= 71000)% = x  x 44/12
g | Nm 505.6 | 45.00 22.8 | 0.0136 1.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|159,747.0 | 9.76 1,559.1 | 0.4890 78.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,581.9 79.3
O m® 1,529.0 0.2660 0.4
O m® 1,529.0 0.4000 0.6
1.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101
B105
C101 C103
C106 C104
C109 C133
Cl14 C110
C501 Cil11
C504 C1l12
C506 C113
C508 C123
C125
| D104
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C132. C115.
C116. C126

C117.




Al 0 2|0 0/ 0 1 3
113 3 0/ 0 5 6
4-5-8
2,015.91 [ m? m 1 o1
. 0 |
| | O O
O O
O O | |
8/ 5 3 9 | | ]
O O O
2023
= x 0.0258 36 |kI
= 69 It
i 21t
= + 71 t
2
s 10007 34.2 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 3,266.3|45.00 147.0 | 0.0136 7.3
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|128,148.0 | 9.76 1,250.7 | 0.4890 62.7
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,397.7 70.0
] m® 3,111.0 0.2660 0.8
O m® 3,111.0 0.4000 1.2
2.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101
C101 C103
C109 C104
C501 C133
C504 C110
C506 Cil11
C508 C1l12
C113
C123
C125
| D101 D108
D104
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C132. C115
C126. C117.
Cc118. C120. C128




Al 0 2|0 0 0 1 4
113 2 0 0 2 4
3-13-7
1,916.90 | m? m 1 o1
- O |
n O O
O O
O O =
8/ 5 3 9 | O ]
O O O
2023
= x 0.0258 31 (kI
B 62 [t
i 2|t
= 4+ 64 |t
2
1000/ 32.3 |kg-CO,/m
GJ
t
=(  /1000)x - X 44712
g | Nm 0.0 1 45.00 0.0 | 0.0136 0.0
LPG O kg 2,010.6 [ 50.80 102.1 | 0.0161 6.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|116,308.0 | 9.76 1,135.2 | 0.4890 56.9
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,237.3 62.9
] m® 3,437.0 0.2660 0.9
O m® 3,437.0 0.4000 1.4
2.3
/1,000)x
X X )/1,000
( 7/ )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C107
C504 C110
C506 Cil11
C508 C1l12

C113
D101 D108
D104

O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C123. C125.
C132. C115. C116.

C126. C117.

C120_ C128_




Al 0 2|0 0 0 15
113 3 0 0 6|5
3-12-8
1,690.00 | m? m 1 o1
- O |
= O O
O O
O O n
8/ 5 3 9 | O ]
O O O
2023
= x 0.0258 34 (kI
= 66 |t
i 1t
= 4+ 67 |t
2
1000/ 39.0 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 1,892.7 | 45.00 85.2 | 0.0136 4.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|127,519.0 | 9.76 1,244.6 | 0.4890 62.4
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,329.8 66.6
] m® 2,719.0 0.2660 0.7
O m® 2,719.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101
C101 C104
C106 C105
C109 C133
Cl14 C107
C501 C110
C504 Cl11
C506 C112
C508 C113
C125
| D104 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C132. C115.
C116. C126

C117. C118_




Al 0 2|0 0/ 0 1 6
113 3 0/ 0 4 3
1-35-1
10,285.84 | m? m 1 o1
- O |
= O O
O O
O O =
8 0 4 2 | O ]
O O O
2023
= x 0.0258 408 |kl
= 792 |t
i 11 |t
= + 803 t
2
1000/ 76.9 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®|107,221.3 | 45.00 4,825.0 | 0.0136 240.6
O 0.0
O 0.0
O 0.0
O 0.0
22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh]|1,129,364.0( 9.76 | 11,022.6 | 0.4890 552.3
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
15,847.6 792.9
] m® | 17,380.0 0.2660 4.6
O m® | 17,380.0 0.4000 7.0
11.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D101 D102
D103 D107
D104 D108
D106
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
c112. C113.
c122. C123. C125.
c131 C132. C115.
C116. C126.
C117. Cc118. C119.
C120. C127.
C128 C129. C130.




Al 0 2|0 0/0 1 7
113 3 0/ 0 6 3
1-8-1
6,023.00 [ m? m 1 o1
. 0 |
| | O O
O O
O O | |
8 0 4 2 | | ]
O O O
2023
= x 0.0258 297 [ki
= 578 |t
i 8|t
= + 586 t
2
s 10007 95.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 11,473.2 | 45.00 516.3 | 0.0136 25.7
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh]|1,129,978.0 9.76 | 11,028.6 | 0.4890 552.6
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
11,544.9 578.3
] m® | 13,137.0 0.2660 3.5
O m® | 13,137.0 0.4000 5.3
8.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C104
C109 C133
Cl14 C107
C501 C108
C504 C110
C506 Cil11
C508 C1l12
C113
| D101 D102
D104 D105
D106 D107
D108
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C122. C123. C125.
C131 C132.
C115. C116. C126.
C117. c118.
C120. C127. c121
C128 C129.




Al 0 2|0 0/ 0 1 8
113 4 0/ 0 8 8
o 4-2-20
10,230.00 I m? m 1 o1
- O |
n O O
O O
O O =
8 0 4 2 | O ]
O O O
2023
= x 0.0258 675 kI
= 1,308 [t
i 22 |t
. 1,330 |t
2
1000/ 127.8 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®|265,195.0 | 45.00 | 11,933.8 | 0.0136 595.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|1,459,703.0 ( 9.76 | 14,246.7 | 0.4890 713.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
26,180.5 1,308.9
] m® | 33,646.0 0.2660 8.9
O m® | 33,646.0 0.4000 13.5
22.4
=( /1,000)x
=( X X )/1,000
=( / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C103
C106 C133
C109 C107
C501 C108
C504 Cil11
C508 C1l12
C113
C122
C123
| D101 D102
D103 D107
D104 D108
D106
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C115. C116.
C126. C117. c118.
C120 c127.
C128 C129. C130.




Al 0 2|0 0/ 0 1 9
113 4 0/ 0 8 7
2-1-1
7,088.00 Im? m 1 o1
- O |
= O O
O O
O O =
8 0 4 1 | O ]
O O O
2023
= x 0.0258 47 ki
= 92 |t
i 3t
= + 95 t
2
1000/ 12.9 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 707.6 | 45.00 31.8 | 0.0136 1.6
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|185,613.0 | 9.76 1,811.6 | 0.4890 90.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,843.4 92.4
] m® 5,916.0 0.2660 1.6
O m® 5,916.0 0.4000 2.4
3.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D101 D105
D104 D107
D106 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
c112. C113.
c122. C123. C125.
c131 C132. C115.
C116. C126.
C117. C120 c121
C128. C129.

C130_




A1 0 0 0/ 0 2 1
1 3 0/ 0 8 8
Hoo7-2-1
3,793.00 Im? m 1 o1
- O |
n O O
O O
O O n
8 04 | O ]
O O O
2023
= x 0.0258 43 [kl
= 84 |t
i} 1t
= + 85 t
2
s 1000/ 22.1 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 72.5145.00 3.3 0.0136 0.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|171,864.0 | 9.76 1,677.4 1 0.4890 84.0
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,680.7 84.2
] m® 2,490.0 0.2660 0.7
O m® 2,490.0 0.4000 1.0
1.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C108
C504 Cl11
C508 C112
C113
C122
| D101 D102
D103 D108
D104
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C123. C125. C132.
C115. C116.
C126 C117. C120
C127. C128.
C129




Al 0 2|0 0/ 0 2 2
113 4 0/ 0 8 6
1-1-2
493.98 | m? m 1 o1
- O |
n O O
O O
O O =
8 0 4 1 | O ]
O O O
2023
= x 0.0258 61 [k
B 120 |t
i 1t
= + 121 t
2
1000/ 242.9 |kg-CO,/m
GJ
t
=(  /1000)x - X 44712
O [ Nm® 0.0 1 45.00 0.0 | 0.0136 0.0
LPG O kg 1,342.1 150.80 68.2 | 0.0161 4.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|237,506.0 | 9.76 2,318.1 | 0.4890 116.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,386.2 120.2
] m® 2,820.0 0.2660 0.8
O m® 2,820.0 0.4000 1.1
1.9
/1,000)x
X X )/1,000
( 7/ )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B105 B104
B106
C101 C108
C106 Cl11
Cl14 C112
C501 C113
C504 C122
C125
C115
Cl116
C126
D101 D102
D103 D108
D104
O
CO, %
CO, kg-CO,/m?|CO, t
B107_ B108_
C117. c118.
C120. C127. C128.
C129.




Al 0 2|0 0 0 2 4
113 2 0/ 0 2 1
3-1-3
7,500.00 I m? m 1 o1
- O |
= O O
O O
O O =
82 1 2 | O ]
O O O
2023
= x 0.0258 328 |k
= 636 |t
i 3t
= + 639 t
2
1000/ 84.8 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 72,551.3 | 45.00 3,264.8 | 0.0136 162.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|968,188.0 | 9.76 9,449.5 | 0.4890 473.4
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
12,714.3 636.2
] m® 4,583.0 0.2660 1.2
O m® 4,583.0 0.4000 1.8
3.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B104
B102 B106
B105 B107
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C107
C504 C108
C506 C110
C508 Cl11
C123
| D101 D102
D103 D108
D104
O
CO, %
CO, kg-CO,/m?|CO, t
B108. C125.
C132. C115.
C116. C126. C117.
C118. C119.
C120 C128.




Al 0 2|0 0/ 0 2 6
113 2 0 0 35
1-11-26
1,209.18 Im? m 1 o1
. 0 |
| | O O
O O
O O | |
82 1 2 | | ]
O O O
2023
= x 0.0258 38 kI
= 75 It
i 01t
= + 75 t
2
s 10007 62.0 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 14,712.5 | 45.00 662.1 | 0.0136 33.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 86,280.0 | 9.76 842.1 | 0.4890 42.2
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,504.2 75.2
] m® 981.0 0.2660 0.3
O m® 981.0 0.4000 0.4
0.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C104
C109 C133
Cl14 C107
C501 C108
C504 C110
C506 Cil11
C508 C1l12
C113
| D101 D102
D103 D105
D104 D107
D106 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C122. C123. CI3l
C115. C116.
C126. C120. c121
C128. C129.




1 0/ 2 0 0/ 0 2 7
113 4 0/ 0 1 3
6-24-1
1,550.55 | m? m 1 o1
- O |
n O O
O O
O O n
82 1 2 | O ]
O O O
2023
= x 0.0258 35 |kl
= 69 |t
_ ot
: 69 |t
2
= x 1000/ 44.5 [kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 0.0 [ 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|142,293.0 | 9.76 1,388.8 | 0.4890 69.6
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,388.8 69.6
] m® 952.0 0.2660 0.3
O m® 952.0 0.4000 0.4
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B104
B102 B106
B105 B107
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C107
C504 C108
C506 C110
C508 Cl11

C112
D101 D102
D104 D108

O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B108. C113.
C123. C115. C116.
C126 C117.




I
Al 0 2|0 0/ 0 2 8
113 4 0/ 0 8 8
¥ 5-10-47
2,341.85 |m? 1 o1
- O |
n O O
O O
O O n
82 1 2 | O ]
O O
2023
= x 0.0258 56 [kl
B 109 |t
) 0t
= + 109 t
2
1000/ 46.5 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 20,137.4 | 45.00 906.2 | 0.0136 45.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|132,346.0 | 9.76 1,291.7 | 0.4890 64.7
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,197.9 109.9
] m® 1,456.0 0.2660 0.4
O m® 1,456.0 0.4000 0.6
1.0
=(" /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202

A203

A204
B101 B104
B102 B106
B105 B107
C101 C102
C106 C103
C109 C104
Cl14 C107
C501 C108
C504 Cl11
C508 C113
C122
Ci123
| D103 D102
D104 D108

O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B108. C125.
C132. C115.
C116. C126. C117.

C120_




Al 0 2|0 0/ 0 7 8
113 2 0/ 0 1 3
2-26-1
2,000.97 Im? m 1 o1
- O |
= O O
O O
O O =
82 1 2 | O ]
= O O
2023
= x 0.0258 60 [kl
= 116 |t
i 1t
= + 117 t
2
1000/ 57.9 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 17,736.2 | 45.00 798.1 | 0.0136 39.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|156,613.0 | 9.76 1,528.5 | 0.4890 76.6
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,326.7 116.4
] m® 1,673.0 0.2660 0.4
O m® 1,673.0 0.4000 0.7
1.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B105 B106
B107
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
D101 D102
D103 D108
D104
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B108. c122.
C123. C131 C115.
C116. C126
C117. c118. C120
c127. C128.

C130_




Al 0 2|0 0 0 80
113 3 0/ 0 5 2
3-6-9
2,933.00 Im? m 1 o1
- O |
= O O
O O
O O =
82 1 2 | O ]
= O O
2023
= x 0.0258 88 [kl
= 170 |t
i 1t
= + 171 t
2
1000/ 57.9 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 31,222.9 | 45.00 1,405.0 | 0.0136 70.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|206,095.0 | 9.76 2,011.5 | 0.4890 100.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
3,416.5 170.8
] m® 2,280.0 0.2660 0.6
O m® 2,280.0 0.4000 0.9
1.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



C120_

A202
A203
A204
B101 B106
B105 B107
C101 C102
C106 C107
C109 C108
C501 C110
C504 Cil11
C506 C1l12
C508 C122

C123

C125
D103 D102
D104 D108

O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C131 C115.
C126 C117.




Al1/0 2 0 0,0 2 9
1 3 2 0 0 2 5
7-5-12
1,747.43 |m? "1 o1
. O |
| | O O
O O
O O | |
8 2 1 1 O | n
O O O
2023
= x 0.0258 38 kI
B 74 |t
: 0|t
= 4+ 74 |t
2
X 1000/ 42.3 |kg-CO,/m
GJ
t
= 71000)% = x  x 44/12
O | Nm®| 11,510.9 | 45.00 518.0 | 0.0136 25.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|100,345.0 | 9.76 979.4 | 0.4890 49.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,497.4 74.9
O m® 860.0 0.2660 0.2
O m® 860.0 0.4000 0.3
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105 B107
B108
C101 C104
C106 C133
C109 C107
Cl14 C108
C501 Cil11
C504 C1l12
C508 C113
C122
C123
| D101 D102
D103 D105
D104 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C125 C132.
C115. C116.
C126 C117. C120
c127. C128.

C130_




Al 0 2|0 0/ 0 3 2
113 2 0 0 25
2-1-10
2,599.29 Im? m 1 o1
- O |
[ O O
O O
O O n
82 1 1 | O ]
n O O
2023
= x 0.0258 84 1kl
= 163 [t
i 01t
= + 163 t
2
1000/ 62.7 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 32,739.6 | 45.00 1,473.3 | 0.0136 73.5
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|184,504.0 | 9.76 1,800.8 | 0.4890 90.2
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
3,274.0 163.7
] m® 1,379.0 0.2660 0.4
O m® 1,379.0 0.4000 0.6
0.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105 B107
B108
C101 C104
C106 C133
C109 C107
Cl14 C108
C501 Cil11
C504 C1l12
C508 C113
C122
C123
| D101 D102
D103 D105
D104 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C125 C132.
C115. C116.
C126 C117. C120
c127. C128.

C130_




Al 0 2|0 0/ 0 3 3
113 2 0 0 35
4-1-1
2,002.78 | m? m 1 o1
. 0 |
| | O O
| | O O
O O O
98 2 1 | O ]
O O O
2023
= x 0.0258 52 kI
= 102 |t
i 01t
= + 102 t
2
s 10007 50.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
g | Nm 85.1 | 45.00 3.8 1 0.0136 0.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|208,757.0 | 9.76 2,037.5 | 0.4890 102.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,041.3 102.3
] m® 1,396.0 0.2660 0.4
O m® 1,396.0 0.4000 0.6
0.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C107
C504 C108
C508 Cil11
C113
C122
D101 D102
D103 D108
D104
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C123. C125.
c131 C132. C115.
C116. C126.
C117. c118. C120.
C128. C129.




Al 0 2|0 0 0 3 4
113 2 0 0 3 4
3-6-3
5,173.63 | m? m 1 o1
. 0 |
| | O O
O O
O O | |
9/ 5 1 1 | O ]
O O O
2023
= x 0.0258 325 Jki
= 631 |t
i 9|t
= 4+ 640 It
2
s 10007 121.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®|137,441.9 | 45.00 6,184.9 | 0.0136 308.4
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|660,196.0 | 9.76 6,443.5 | 0.4890 322.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
12,628.4 631.3
] m® | 14,593.0 0.2660 3.9
O m® | 14,593.0 0.4000 5.8
9.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B104
B102 B106
B105 B107
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 Cil11
C504 C112
C508 C113
C122
Ci123
D101 D102
D103 D108
D104
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B108. c131
C115. C116.
C126 C117. c118.
C120. C128
C129




Al 0 2|0 0/0 7 2
113 2 0 0 35
7-1-6
1,669.23 | m? m 1 o1
- O |
[ O O
O O
O O n
82 1 1 | | ]
n O O
2023
= x 0.0258 40 [kl
= 78 It
i 01t
= + 78 t
2
1000/ 46.7 |kg-CO,/m
GJ
t
=(  /1000)x [~ x 44712
O | Nm®| 18,202.1 | 45.00 819.1 | 0.0136 40.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 77,833.0 | 9.76 759.7 | 0.4890 38.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,578.7 78.9
] m® 457.0 0.2660 0.1
O m® 457.0 0.4000 0.2
0.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 Cil11
C504 C112
C508 C113
C122
Ci123
D101 D102
D104 D108
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
C131 C115
C116. C126.
C117. c118. C120
C128 C129.




1 0/ 2 0 0/ 0 3 6
113 4 0/ 0 8 3
¥ 3-10-1
7,392.32 Im? m 1 o1
- O |
n O O
n O O
O O O
98 2 1 | O ]
n O O
2023
= x 0.0258 209 [kl
= 405 [t
_ 41t
2
-y 1000/ 54.7 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 73,673.6 | 45.00 3,315.3 | 0.0136 165.3
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|491,432.0 | 9.76 4,796.4 | 0.4890 240.3
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
8,111.7 405.6
] m® 6,763.0 0.2660 1.8
O m® 6,763.0 0.4000 2.7
4.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C104
C106 C133
C109 C107
Cl14 C108
C501 C110
C504 C113
C506 C122
C508 C123
C115
| D101 D102
D103 D105
D104 D107
D106 D108
E101 E125
E103 E104
E105
E106
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C116. C126.
C117. C120 c127.
C129. E108.
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Al 0 2|0 0/ 0 3 8
113 4 0/ 0 8 1
o 2-11-39
1,491.50 | m? 1 o1
- O |
n O O
O O
O O n
82 1 1 | O ]
O O O
2023
= x 0.0258 52 [kl
= 100 [t
i 01t
= + 100 t
2
1000/ 67.0 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 23,658.9 | 45.00 1,064.6 | 0.0136 53.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 97,886.0 | 9.76 955.4 | 0.4890 47.9
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,020.0 101.0
] m® 773.0 0.2660 0.2
O m® 773.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202

A203

A204
B101 B106
B102 B107
B105 B108
C101 C102
C106 C104
C109 C133
Cl14 C107
C501 C108
C504 Cl11
C508 C112
C113
C122
| D101 D102
D103 D108

D104

O
of =]
CO, %
CO, kg-CO,/m?|CO, t
C123. C125.
c131 C132. C115.
C116. C126.
C117. C120 C127.
C128. C129.
C130.




Al 0 2|0 0/ 0 3 9
113 4 0/ 0 1 3
6-46
1,752.80 | m? m 1 o1
- O |
= O O
O O
O O =
82 1 1 | O ]
O O O
2023
= x 0.0258 41 ki
= 81 |t
i o]t
= + 81 t
2
1000/ 46.2 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 18,628.4 | 45.00 838.3 | 0.0136 41.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 80,732.0 | 9.76 787.9 | 0.4890 39.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,626.2 81.3
] m® 605.0 0.2660 0.2
O m® 605.0 0.4000 0.2
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105 B108
C101 C102
C106 C104
C109 C133
Cl14 Cl11
C501 C123
C504 C125
C508 C132

C115

C126
D101 D102
D103 D108
D104

of f=]
CO, %
CO, kg-CO,/m?|CO, t
C117. C120
C127.




Al 0 2 0 0 0 4 1
1 34 0 0 8 7
1-2-2
2,898.66 |m? m 1 o1
- O |
[ O ]
O O
] O [
8 2 1 1 O | ]
O O O
2023
= x 0.0258 74 1kl
B 144 |t
i} 1t
=+ 145 |t
2
-y 1000/ 49.6 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 173.0 1 45.00 7.8 1 0.0136 0.4
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|295,574.0  9.76 2,884.8 | 0.4890 144.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,892.6 144.9
O m® 1,842.0 0.2660 0.5
O m® 1,842.0 0.4000 0.7
1.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102
B105
C101 C102
C106 C103
C109 C104
Cl14 C133
C501 C107
C504 C122
C508 C123
C115
C116
D104 D108
E135
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C126. C120
C127. C128.




Al 0 2|0 0/ 0 4 2
113 4 0/ 0 8 6
2-2-9
2,176.50 | m? m 1 o1
. 0 |
| | O O
O O
O O | |
82 1 1 | | ]
O O O
2023
= x 0.0258 39 |kI
= 77 It
i 01t
= + 77 |t
2
s 10007 35.3 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
g | Nm 77.3145.00 3.5 0.0136 0.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|157,867.0 | 9.76 1,540.8 | 0.4890 77.2
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,544.3 77.4
] m® 786.0 0.2660 0.2
O m® 786.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C104
C106 C133
C109 C108
C501 C110
C504 Cil11
C506 C1l12
C508 C113
C122
C125
| D104 D102
D108
O
CO, %
CO, kg-CO,/m?|CO, t
C131 C132.
C117. C120
C127. C129. C130.




I
Al 0 2|0 0/ 0 4 3
113 4 0 0 8 4
o 8-22-1
3,871.91 Im? m 1 o1
- O |
n O O
O O
O O n
82 1 1 | O ]
n O O
2023
= x 0.0258 145 |kl
B 281 |t
i 1]t
= + 282 t
2
1000/ 72.5 |[kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 46,059.2 | 45.00 2,072.7 | 0.0136 103.4
O 0.0
O 0.0
O 0.0
O 0.0
8 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|364,972.0 | 9.76 3,562.1 | 0.4890 178.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
5,634.8 281.8
] m® 1,915.0 0.2660 0.5
O m® 1,915.0 0.4000 0.8
1.3
=( /1,000)x
=( X X )/1,000
=( / )x 1,000 =( /1,000)x
1

A 4



A202

A203

A204

B101 B103

B102 B104

B105 B106

C101 C102

C106 C104

C109 C133

Cl14 C107

C501 C108

C504 C112

C508 C125

C132
C115
|
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.

C117. C120

C127.




Al 0 2|0 00 7 9
113 4 0 0 8 4
¥  5-31-18
2,498.13 Im? 1 o1
- O |
n O O
O O
O O =
82 1 1 | ]
= O
2023
= x 0.0258 63 |k
= 124 |t
_ 01t
= 4+ 124 |t
2
1000/ 49.6 |kg-cO,/m
GJ
t
=( 71000)x = x  x 44/12
g | Nm 0.0 1 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|253,880.0 | 9.76 2,477.9 | 0.4890 124.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,477.9 124.1
] m® 871.0 0.2660 0.2
O m® 871.0 0.4000 0.3
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C133
C501 C107
C504 C108
C506 C110
C508 Cl11
C1l12
| D101 D102
D104 D108
o] =]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C113. c122. c123]
C125 c131
C132. C115. C116.
C126. C117.
Cc118. C120. C127.
C128.




Al 0 2|0 0/ 0 8 2
113 4 0/ 0 9 1
1-3-1
2,488.61 |m? m 1 o1
- O |
= O O
O O
O O =
82 1 1 | O ]
= O O
2023
= x 0.0258 57 (kI
= 112 |t
i o]t
= + 112 t
2
1000/ 45.0 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 22,507.6 | 45.00 1,012.8 | 0.0136 50.5
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|125,810.0 | 9.76 1,227.9 | 0.4890 61.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,240.7 112.0
] m® 806.0 0.2660 0.2
O m® 806.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B104
B102 B106
B105 B107
C101 C104
C106 C107
C109 C108
Cl14 C112
C501 C113
C504 C122
C508 Ci123
C125
Ci131
| D104 D102
D108
O
CO, %
CO, kg-CO,/m?|CO, t
B108. C132.
C115. C117.
Cc118. C120. C127.




Al 0 2|0 0 0 4 4
113 3 0/ 0 5 2
6-9-14
3,677.64 |m? m 1 o1
. 0 |
| | O O
| | O O
O O O
98 2 1 | O ]
O O O
2023
= x 0.0258 114 |kl
= 222 |t
i 21t
= 4 224 It
2
s 10007 60.3 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 39,153.4 | 45.00 1,761.9 | 0.0136 87.9
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|276,090.0 | 9.76 2,694.6 | 0.4890 135.0
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
4,456.5 222.9
] m® 3,935.0 0.2660 1.0
O m® 3,935.0 0.4000 1.6
2.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C108
C508 C1l12
C113
C123
C132
D103 D102
D104 D105
D106 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C115. C126
C117. c118.

C119_ C129.




Al 0 2|0 0 0 4 5
113 3 0/ 0 5 1
1-17-1
7,583.44 | m? m 1 01
- O |
= O O
O O
O O =
9/ 5 1 1 | O ]
= O O
2023
= x 0.0258 365 [k
= 708 |t
_ 71t
= + 715 t
2
1000/ 93.3 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®|104,155.1 | 45.00 4,687.0 | 0.0136 233.7
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|970,522.0 | 9.76 9,472.3 | 0.4890 474.6
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
14,159.3 708.3
] m® | 10,634.0 0.2660 2.8
O m® | 10,634.0 0.4000 4.3
7.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B105 B104
B106
C101 C102
C106 C103
C109 C104
Cl14 C133
C501 C107
C504 C108
C508 Cil11
C1l12
C113
D101 D102
D103 D105
D104 D108
D106
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
B107. C123.
C124 Ci3l C115
C116. C126
C117. c118. C119.
C120 c127.

C128_ C129_




Al1/0 2 0 0 0 4 6
1 3 3 0 0 5 1
6-35-17
1,896.60 | m? 1 o1
. O |
| | O O
O O
O O | |
8 2 1 1 O n
| | O
2023
= x 0.0258 39 |kI
B 77 |t
: 0|t
= 4+ 77 |t
2
X 1000/ 40.5 |kg-CO,/m
GJ
t
= 71000)% = x  x 44/12
O | Nm®| 17,729.4 | 45.00 797.8 | 0.0136 39.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 76,723.0 | 9.76 748.8 | 0.4890 375
17 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,546.6 77.3
O m® 821.0 0.2660 0.2
O m® 821.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C104
C109 C133
Cl14 C107
C501 C108
C504 C110
C506 Cil11
C508 C112
C113
| D101 D102
D103 D108
D104
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C122. C123. C125.
C131 C132.
C115. C116. C126.
C117. c118.
C119. C120 C127.
C128. C129.




Al 0 2|0 0/ 0 4 8
113 2 0 0 1 4
1-17-1
3,455.35 | m? m 1 o1
- O |
= O O
= O O
O O O
98 2 1 | O ]
O O O
2023
= x 0.0258 73 kI
= 142 |t
i 1t
= 4+ 143 |t
2
1000/ 41.0 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 15,619.2 | 45.00 702.9 | 0.0136 35.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|220,375.0 | 9.76 2,150.9 | 0.4890 107.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,853.7 142.8
] m® 1,823.0 0.2660 0.5
O m® 1,823.0 0.4000 0.7
1.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D101 D102
D103 D108
D104
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
c112. C113.
c122. C123. C125.
C131 C132.
C115. C116. C126
C117. c118.
C120 c127. C128
C129.




Al1/0 2 0 0 0 4 9
1 3 2 00 1 1
2-5-7
5,415.76 | m? "1 o1
. O |
| | O O
O O
O O | |
9/ 5 1 1 O O n
O O O
2023
= x 0.0258 123 [ki
= 239 It
: 2t
=+ 241 |t
2
1000/ 44.1 |kg-CO,/m
GJ
t
= 71000)% = x  x 44/12
O | Nm®| 42,652.7 | 45.00 1,919.4 | 0.0136 95.7
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 s | O |kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|294,896.0 | 9.76 | 2,878.2 | 0.4890 144.2
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
4,797.6 239.9
O m® 3,119.0 0.2660 0.8
O m® 3,119.0 0.4000 1.2
2.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D101 D102
D103 D108
D104
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C112. C113.
c122. C123. C125.
C131 C132. C115
C116. C126.
C117. C120 c127.
C128.




Al 0 2|0 0/ 0 5 1
113 3 0/ 0 7 3
1-54-2
3,313.76 |m? m 1 o1
- O |
= O O
= O O
O O O
98 2 1 | O ]
O O O
2023
= x 0.0258 61 [k
= 118 |t
i 2|t
= + 120 t
2
1000/ 35.6 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 24,535.6 | 45.00 1,104.1 | 0.0136 55.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|130,491.0 | 9.76 1,273.6 | 0.4890 63.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,377.7 118.9
] m® 3,310.0 0.2660 0.9
O m® 3,310.0 0.4000 1.3
2.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B106
B105 B107
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C107
C504 C108
C506 C110
C508 Cl11
C112
| D101 D102
D103 D108
D104
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B108. C113.
C123. C125. c131
C132. C115.
C116. C126 C117.
C118. C119.
C120. C128




Al 0 2|0 0/ 0 5 2
113 3 0 0 5 4
4-21-8
1,468.93 | m? m 1 o1
- O |
= O O
O O
O O =
82 1 1 | O ]
O O O
2023
= x 0.0258 32 [k
= 62 |t
i o]t
= + 62 t
2
1000/ 42.2 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 15,304.1 | 45.00 688.7 | 0.0136 34.3
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 58,258.0 | 9.76 568.6 | 0.4890 28.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,257.3 62.8
] m® 625.0 0.2660 0.2
O m® 625.0 0.4000 0.3
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B106
B105 B107
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C107
C504 C108
C506 C110
C508 Cl11
C112
| D101 D102
D103 D108
D104
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B108. C113.
C123. C125. c131
C132. C115.
C116. C126 C117.
C118. C119.
C120. C128




Al 0 2|0 0 0 5 4
113 3 0 0 5|5
2-18-22
1,998.33 |m? m 1 o1
- O |
n O O
O O
O O =
8 5 59 | O ]
O O O
2023
= x 0.0258 50 [kl
B 102 |t
i 2|t
= 4+ 104 |t
2
1000/ 51.0 |kg-CO,/m
GJ
t
=(  /1000)x - X 44712
g | Nm 0.0 1 45.00 0.0 | 0.0136 0.0
LPG O kg 7,679.9 [ 50.80 390.1 | 0.0161 23.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|162,169.0 | 9.76 1,582.8 | 0.4890 79.3
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,972.9 102.3
] m® 3,094.0 0.2660 0.8
O m® 3,094.0 0.4000 1.2
2.1
/1,000)x
X X )/1,000
( 7/ )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D101 D102
D103 D105
D104 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
c112. C113.
C122_ C123_ Cl24_
C125 C132.
C115. C116. C126
C117. C128.

C129. C130_




Al 0 2|0 0 0 5|5
113 3 0 0 4 4
3-38-3
2,175.06 | m? m 1 o1
. 0 |
| | O O
O O
O O | |
8 5 59 | | ]
O O O
2023
= x 0.0258 39 |kI
= 76 |t
i 21t
= + 78 t
2
s 10007 34.9 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 4,108.3|45.00 184.9 | 0.0136 9.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|137,268.0 | 9.76 1,339.7 | 0.4890 67.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,524.6 76.3
] m® 3,146.0 0.2660 0.8
O m® 3,146.0 0.4000 1.3
2.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B107
B105
C101 C102
C106 C104
C109 C105
Cl14 C133
C501 C107
C504 C108
C508 C112
C113
C122
D101 D102
D103 D105
D104 D108
D106
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C123_ Cl24_
C115. C116. C126
C117. C128

C129_ C130_




A1 0 0 0/ 0 5 6
1 3 0 0 8 4
¥ 5-10-5
2,305.69 |m? m 1 o1
- O |
n O O
O O
O O n
8 5|5 | O ]
O O O
2023
= x 0.0258 46 [kl
= 90 [t
i 21t
= + 92 t
2
1000/ 39.0 |[kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O |Nm®| 5,427.8|45.00 244.2 | 0.0136 12.2
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|161,177.0 | 9.76 1,573.1 | 0.4890 78.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,817.3 91.0
] m® 3,176.0 0.2660 0.8
O m® 3,176.0 0.4000 1.3
2.1
=( /1,000)x
=( X X )/1,000
=( / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C508 C108
Cl11
C1l12
| D101 D102
D103 D105
D104 D108
D106
O
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C113. c122. c123]
C124. C125
C131 C132. C115
C116. C126.
C117. C120 c121
C128. C129.




Al 0 2|0 0/ 0 5 7
113 2 0 0 3 4
3-13-4
1,200.00 | m? m 1 o1
- O |
= O O
O O
O O n
8 5 59 | O ]
O O O
2023
= x 0.0258 39 [k
= 77 |t
i 1t
= 4+ 78 |t
2
1000/ 64.1 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 14,848.8 | 45.00 668.2 | 0.0136 33.3
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh| 89,701.0 | 9.76 875.5 | 0.4890 43.9
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,543.7 77.2
] m® 2,251.0 0.2660 0.6
O m® 2,251.0 0.4000 0.9
1.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101
B102
C101 C103
C106 C104
C109 C105
Cl14 C133
C501 C108
C504 C110
C506 Cil11
C508 C1l12
C123
| D101 D102
D103 D105
D104 D107
D106 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C124 C125
c131 C132.
C115. C116. C126.
C117. c121

C129. C130_




A1 0 0 0/ 0 5 8
1 3 0/ 0 8 3
o 2-11-8
1,597.22 | m? m 1 o1
- O |
n O O
O O
O O =
8 5|5 | O ]
O O O
2023
= x 0.0258 70 [k
= 137 |t
i 3t
= 4+ 140 |t
2
1000/ 85.7 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 10,606.1 | 45.00 477.3 | 0.0136 23.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|231,997.0 | 9.76 2,264.3 | 0.4890 113.4
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,741.6 137.2
] m® 5,714.0 0.2660 1.5
O m® 5,714.0 0.4000 2.3
3.8
=( /1,000)x
=( X X )/1,000
=( / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102
B105
C101 C103
C109 C104
Cl14 C133
C501 C107
C504 C108
C508 C1l12
C113
C122
C123
| D101 D102
D103 D105
D104
D106
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C124 C132.
C115. C126.
C117. c118. C120.
c127. C128

C129_ C130_




Al 0 2|0 0/ 0 8 3
113 3 0/ 0 6 3
1-6-1
1,375.51 |m? m 1 o1
. 0 |
| | O O
O O
O O | |
8 5 31 | | ]
O O O
2023
= x 0.0258 33 |kl
= 64 It
i 21t
= + 66 t
2
s 10007 46.5 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 3,286.6 | 45.00 147.9 | 0.0136 7.4
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|117,512.0 | 9.76 1,146.9 | 0.4890 57.5
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,294.8 64.8
] m® 3,074.0 0.2660 0.8
O m® 3,074.0 0.4000 1.2
2.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105
C101 C105
C109 C133
Cl14 C108
C501 Cl11
C508 C1l12
C113
C123
C125
C132
D104 D105
D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C115. C116.

C117.




Al 0 2 0 0 0 5 9
1 3 2 0 0 2 1
4-24-19
1,450.08 | m? m 1 o1
O =
O O
n O O
O O O
8 4 1 1 O | ]
O O O
2023
= x 0.0258 30 |ki
= 58 |t
i} 0t
= + 58 t
2
-y 1000/ 39.9 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 38.2 145.00 1.7 | 0.0136 0.1
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|119,213.8 | 9.76 1,163.5 | 0.4890 58.3
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,165.2 58.4
O m® 1,079.1 0.2660 0.3
O m® 1,079.1 0.4000 0.4
0.7
=( /1,000)x
= x x )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105 B108
C101 C102
C106 C103
C109 C105
Cl14 C133
C501 C107
C504 C108
C506 C110
C508 Cl11
C113
| D101 D108
D104
O
CO, %
CO, kg-CO,/m?|CO, t
C122. C123.
C125 c13l c132.
C115. C116.
C126. C117.




1 0/ 2 0 0 0 60
113 3 0/ 0 5 2
3-23-3
2,273.70 | m? m 1 o1
- O |
n O O
n O O
O O O
8 4 2 9 | O ]
O O O
2023
= x 0.0258 39 [k
= 77 |t
i o]t
= 77 It
2
1000/ 33.8 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O [ Nm® 187.5 145.00 8.4 1 0.0136 0.4
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|157,692.0 | 9.76 1,539.1 | 0.4890 77.1
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,547.5 77.5
] m® 1,200.0 0.2660 0.3
O m® 1,200.0 0.4000 0.5
0.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202

A203
A204
B101 B106
B105 B108
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
D108
O
o] =]
CO, %
CO, kg-CO,/m?|CO, t
C123. C125.
c131 C132. C115.
C116. C126




10 0 0/ 0 6 2
1 3 0/ 0 8 3
B 5-43
5,679.55 | m? m 1 o1
- O |
n O O
O O
O O n
7 914 | O ]
O O O
2023
= x 0.0258 127 |k
= 247 It
i} 1t
2
s 1000/ 43.4 |kg-cO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 0.0 [ 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|506,610.0 | 9.76 4,944.5 | 0.4890 247.7
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
4,944.5 247.7
] m® 2,895.0 0.2660 0.8
O m® 2,895.0 0.4000 1.2
1.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C103
C501 C133
C524
D108
O
CO, %
CO, kg—C02/m2 CoO, t

B108_




Al 0 2|0 0 0 6 4
113 2 0/ 0 1 1
2-2-1
4,800.00 [ m? m 1 o1
- O |
= O O
O O
O O =
719 41 | O ]
O O O
2023
= x 0.0258 30 [k
= 59 |t
i o]t
= + 59 t
2
1000/ 12.2 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 0.0 1 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|121,360.0 | 9.76 1,184.5 | 0.4890 59.3
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,184.5 59.3
] m® 293.0 0.2660 0.1
O m® 293.0 0.4000 0.1
0.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105 B108
C101 C102
C106 C104
C109 C105
C501 C110
C506 Cil11
C508 C112
C113
C123
C132
D108
O
CO, %
CO, kg-CO,/m?|CO, t

C115_




Al 0 2|0 0 0 6|5
113 4 0/ 0 9 1
7-2-1
10,500.00 | m? m 1 o1
- O |
= O O
O O
O O =
69 3 1 | O ]
O O O
2023
= x 0.0258 74 1kl
- 144 |t
_ 01t
=+ 144 |t
2
= 1000/ 13.7 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
g | Nm 0.0 1 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|296,358.0 | 9.76 2,892.5 | 0.4890 144.9
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,892.5 144.9
] m® 297.0 0.2660 0.1
O m® 297.0 0.4000 0.1
0.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
Cl14 C133
C501 C115
C116
C126
C524
C510
C511
D108
O
CO, %
CO, kg-CO,/m?|CO, t

B108_




A1 0 0 0/ 0 6 7
1 3 0/ 0 8 1
Hoo3-2-1
226.48 |m? m 1 o1
- O |
n O O
O O
O O n
8 0|5 | O ]
O O O
2023
= x 0.0258 235 [kl
= 457 |t
i} 33 |t
= 4+ 490 |t
2
-y 1000/ 2,017.8 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 23,467.5 | 45.00 1,056.0 | 0.0136 52.7
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|827,485.0 | 9.76 8,076.3 | 0.4890 404.6
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
9,132.3 457.3
] m® | 50,400.0 0.2660 13.4
O m® | 50,400.0 0.4000 20.2
33.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B102 B104
B105
C101 C102
C106 C103
C109 C104
C501 C105
C504 C133
C506 C107
C508 C108
C110
Cil11
| D101 D108
D104
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C113. c122.
C123. C125. c13l

C127.

C132.

C120_




Al 0 2|0 0/ 0 6 8
113 4 0/ 0 8 8
¥ 678
474.53 |m? m 1 o1
- O |
n O O
O O
O O =
8 0 5 1 | O ]
O O O
2023
= x 0.0258 115 |kl
= 223 |t
i 13 |t
= + 236 t
2
1000/ 469.9 |kg-CO,/m
GJ
t
=(  /1000)x - X 44712
O [ Nm® 0.0 1 45.00 0.0 | 0.0136 0.0
LPG O kg 388.0 [ 50.80 19.7 | 0.0161 1.2
O 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|455,275.0 | 9.76 4,443.5 | 0.4890 222.6
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
4,463.2 223.8
] m® | 19,565.0 0.2660 5.2
O m® | 19,565.0 0.4000 7.8
13.0
/1,000)x
X X )/1,000
( 7/ )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D104 D108
O
of =]
CO, %
CO, kg-CO,/m?|CO, t
B107. B108.
C113. C123. C125
C131 C132.
C115. C116. C126.
C117. C120.

C129_




Al 0 2|0 0 0 8 4
113 4 0/ 0 1 3
5-32-6
2,128.00 Im? m 1 o1
- O |
n O O
O O
O O n
8 5 59 | O ]
O O O
2023
= x 0.0258 59 [kl
= 114 |t
i} 1t
= + 115 t
2
s 1000/ 53.5 |[kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
O | Nm®| 6,138.3|45.00 276.2 | 0.0136 13.8
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|206,502.0 | 9.76 2,015.5 | 0.4890 101.0
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,291.7 114.8
] m® 2,843.0 0.2660 0.8
O m® 2,843.0 0.4000 1.1
1.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B103
B102 B104
B105 B106
C109 C102
Cl14 C104
C504 C133
C508 C108
Cil11
C1l12
C122
Cl24
C125
D103 D102
D104 D105
D106 D107
D108
o] =]
CO, %
CO, kg-CO,/m?|CO, t

Cl15_

C127.

B107_

C116_

C132.
C126_
C121.




Al 0 2 0 0/ 0 8 5
1 3 3 0 0 6 1
7-20-19
3,600.00 Im? 1 o1
- O |
n O O
O O
O O n
79 4 1 O | ]
O O O
2023
= x 0.0258 34 [kl
= 67 |t
i o]t
= 4+ 67 |t
2
1000/ 18.6 |kg-CO,/m
GJ
t
=( 71000)x = x x 44/12
g | Nm 0.0 [ 45.00 0.0 | 0.0136 0.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|138,562.0 | 9.76 1,352.4 | 0.4890 67.8
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,352.4 67.8
O m® 226.0 0.2660 0.1
O m® 226.0 0.4000 0.1
0.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
C101 C133
C106 Cl11
Cl14 C113
C501 C125
C504 C132
C115
C116
C126
C5h12
D104 D108
O
CO, %
CO, kg-CO,/m?|CO, t




1 0/ 2 0 0/ 0 8 8
113 2 0/ 0 2 1
3-4-18
4,508.91 | m? m 1 o1
- O |
n O O
= O O
O O O
8/ 5 3 9 | O ]
= O O
2023
= x 0.0258 109 |kl
= 211 |t
_ 41t
= 215 It
2
= 1000/ 46.7 |kg-CO,/m
GJ
t
=(  /1000)x [~ x 44712
O | Nm®| 11,901.5 | 45.00 535.6 | 0.0136 26.7
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|378,089.0 | 9.76 3,690.1 | 0.4890 184.9
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
4,225.7 211.6
] m® 7,407.0 0.2660 2.0
O m® 7,407.0 0.4000 3.0
4.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C103
C109 C104
Cl14 C105
C501 C133
C504 C107
C506 C108
C508 C110
Cil11
| D101 D102
D103 D105
D104 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
c112. C113.
C123. C125. c131
C132. C115.
C116. C126 Cc118.
C120 c127.

C130_




Al 0 2|0 0/ 0 89
113 2 0/ 0 3 1
4-25-6
2,893.56 | m? m 1 o1
. 0 |
| | O O
O O
O O | |
82 1 1 | O ]
| | O O
2023
= x 0.0258 74 kI
= 143 |t
i 01t
=+ 143 |t
2
s 10007 49.4 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O | Nm®| 4,884.5(45.00 219.8 | 0.0136 11.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O |kwh|272,010.0 | 9.76 2,654.8 | 0.4890 133.0
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,874.6 144.0
] m® 990.0 0.2660 0.3
O m® 990.0 0.4000 0.4
0.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x
1

A 4



A202
A203
A204
B101 B106
B105 B107
B108
C101 C104
C106 C133
C109 C107
Cl14 C108
C501 Cil11
C504 C1l12
C508 C113
C122
C123
| D101 D102
D103 D105
D104 D108
O
of f=]
CO, %
CO, kg-CO,/m?|CO, t
C125 C132.
C115. C116.
C126 C117. C120
c127. C128.

C130_




1 0/ 2 0 00 90
113 2 0 0 35
6-1-17
4,839.00 [ m? m 1 o1
- O |
n O O
n O O
O O O
8 4 1 1 | O ]
O O O
2023
= x 0.0258 41 |kl
B 81 |t
i 1]t
i} 82 |t
2
1000/ 16.7 |kg-CO,/m
GJ
t
=( 71000)x = x  x 44/12
O [ nm?| 3,582.4[45.00 161.2 | 0.0136 8.0
O 0.0
O 0.0
O 0.0
O 0.0
8 22 O | kwWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwWh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh|149,950.0 | 9.76 1,463.5 | 0.4890 73.3
17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,624.7 81.4
O m® 1,533.0 0.2660 0.4
O m® 1,533.0 0.4000 0.6
1.0
=( /1,000)x
=( X X )/1,000
=( / )x 1,000 =( /1,000)x
1

A 4



C129_

A202
A203
A204
B101 B106
B102 B108
B105
C101 C102
C106 C104
C114 C105
C501 C133
C504 Ci11
C112
C113
Ci123
C125
a
o] =]
CO, %
Co, kg-CO,/m?[CO, t
C115. C116.
C126 C117.




